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7KH� 7HUUDGRQ� 3HUFKHU\� LV� ORFDWHG� DW�

WKH� XSSHU�PRVW� SRLQW� RI� WKH� 3\UDPLG�

7HPSOH�� 7HUUDGRQV� DUH� KDWFKHG� KHUH�

DQG� RQFH� WKH\� DUH� ROG� HQRXJK� FDQ�

WDNH� IOLJKW� DQG� VRDU� KLJK� DERYH� WKH�

MXQJOHV�RI�/XVWULD�

7HUUDGRQV� DUH� FRQVWDQWO\� KDWFKLQJ�

IURP� WKHLU� HJJV� LQ� WKH� SHUFKHU\�� $W�

WKH�EHJLQQLQJ�RI�HDFK�WXUQ�D�:DUULRU�LV�

LQ�WKLV�URRP�KH�PXVW�UROO��'���2Q�D�UROO�

RI� �� KH� KDV� EHHQ� NQRFNHG� SURQH� IRU�

WKH� UHVW� RI� WKH� WXUQ� E\� D� EDE\�

7HUUDGRQ� VODPPLQJ� LQWR� KLV� FKHVW�

ZKLOH�OHDUQLQJ�WR�IO\�


